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4. i B 5. Top: V= bh) h 4 6. The diameter of a
v T\B—@'\) g (bh) sphere is 20 yd. Find

the volume and round
to the nearest
hundredths. J
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8. A sphere is inscribed in a 8. Find the missing widih
' h cube. The cube has a of The' base.
volume of 64 cubic meters. V=3 bh
What is the surface area \L/Olu";‘r‘.‘e =320g fe
f the sphere? ¥ engin =
o g /e*r'ew 2= Height = 7 ft
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14 _Solve for x.
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15.Solve for x and round to the nearest

16. Solve for x and round to the nearest

tenth. \\ (|\+202 -2 ‘?)(I?)*‘L‘D tenth. o

nw(3l)= \LiH3Kx . v = 7(7”5)
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17.Solve for x 18. Find HG | ( ,
X+8) = [2( 1241
= x (x+5) G@ (i)
Bb - xl-r S e x+8 @1’3)‘_!*3): )?_(Z'ﬁ
X>+3Sy 3b=0 x-,-llpub'{'-' 24 "
X%l x ~ ZloO 0

1024 5 ' '




